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Earth's Perihelion and Aphelion

Year Perihelion Distance Aphelion Distance

2016 3 January 2016 8:48 AM 147,100,176 km 5 July 2016 2:24 AM 152,103,775 km

2017 5January 2017 12:17 AM 147,100,998 km 4 July 2017 6:11 AM 152,092,504 km
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Cartesian Hyperbola
1.

The top and base of an opaque truncated cone lamp shade are 14 cm and 18 cm in diameter
respectively. The light bulb is located at the center of the shade 13 cm fro the top. It casts a
shadow, which is of the form of a hyperbola, on a wall touched by the base of the lampshade.
Assume the origin is at the light bulb and evaluate the vertices, foci, and the slope of the
asymptotes of the hyperbola. Draw the hyperbola.
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2.

A lamp with an opaque cylindrical shade 0.5m in diameter, 0.75m high has a light bulb located
at the center of the shade. It casts a shadow, which is of the form of a hyperbola, on a wall 1m
from the bulb and parallel to the shade. Assume the origin is at the light bulb. Evaluate the

vertices, foci, and the slope of the asymptotes of the hyperbola.
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Parametric Parabola
Assume a ball is thrown horizontally with a speed of 1 ms™ from a height of 20 m (g = 10 ms™2).

Determine the vertex, focus and directrix of the path of the projectile (parabola).
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